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QUESTION 1

A solution developer implemented a message flow for a book store company which receives an XML input message.
The input message is formed according to an XML schema supplied by the client and used by several other applications
owned by the company. The input node uses XMLNSC parser to parse the input message. The image below depicts a
sample XML input message. According to business needs, the bookDetails elements and all of its children are not
referenced by the code. Performance test for the flow showed a significant time spent in message parsing time
especially for large messages. 

What should the solution developer do to enhance the message parsing time ? 

A. Use the MRM parser instead. 

B. Set the parse timing to Complete. 
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C. Set the parse timing option to On Demand. 

D. Add the bookDetails element to the XMLNSC parse Opaque elements 

Correct Answer: D 

 

QUESTION 2

A healthcare company needs to implement WS-Security integrity message signing for an existing web service flow that
will now be handling sensitive data. Which nodes can the solution developer use to develop this enhancement?
(Choose two) 

A. HTTPInput 

B. HTTPRequest 

C. SOAPInput 

D. SOAPRequest 

E. SOAPEnvelope 

Correct Answer: CD 

 

QUESTION 3

A company has implemented the following message flow to process orders received: 

The ORDERS.IN node has the Transaction mode set to Yes. 

When a failure occurs in the CalculatePrice node it is noticed that the database updates performed in the
UpdateOrderDB node are not rolled back. How should the solution developer modify the flow in order to rollback the
database updates in the event of a failure? 

A. Add a Throw node following ORDER.ERROR. 

B. Change the Transaction mode of ORDERS.IN to Automatic. 
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C. Set the Throw exception on database error property on UpdateOrderDB. 

D. Insert a TryCatch node between UpdateOrderDB and CreateShippingInfo to handle the error. 

Correct Answer: A 

 

QUESTION 4

A solution developer creates a new broker instance containing the default execution group. The solution developer
attempts to create a second execution group within the same broker and the operation fails. To correct the issue, the
solution developer must: 

A. upgrade the broker because it is running in Trial Edition mode. 

B. upgrade the broker because it is running in Standard Edition mode. 

C. run the default configuration wizard before creating the second execution group. 

D. stop the first execution group from processing messages before the second execution group can be created. 

Correct Answer: B 

 

QUESTION 5

A sample snippet of an incoming message is shown below. 

A solution developer is asked to design a message model that only processes messages that contain an allowed list of
currency codes and rejects other messages. How can the solution developer modify the message model to achieve
this? 

A. Add the allowed currency codes in Fixed Value. 

B. Add the allowed currency codes in Default Value. 

C. Add the allowed currency codes in Enumerations. 

D. Add the currency codes in Block Substitution settings. 

Correct Answer: C 
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